azzpapers. comn

RoIINo.HHHHHH‘ Total No. of Pages : 02
Total No. of Questions : 09

B.Tech.(CE) (2011 onwards) (Sem.-4)
DESIGN OF CONCRETE STRUCTURES-I
Subject Code : BTCE-403
Paper ID : [A1173]

Time : 3 Hrs. Max. Marks : 60

INSTRUCTION TO CANDIDATES :

1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each.

2. SECTION-B contains FIVE questions carrying FIVE marks each and students
have to attempt any FOUR questions.

3. SECTION-C contains THREE questions carrying TEN marks each and students
have to attempt any TWO questions.

4. Assume any data suitably. For all designs Limit State Method is to be used.

SECTION-A
1.  Write briefly :
a. What is Portland Cement and how is it manufactured?

b. Discuss the chemical composition of cement and the contribution of different cement
compounds to setting of cement.

c. Discuss the various tests on physical properties of cement.

d. Discuss water reducing admixtures used in concrete.

e. Define Specific Gravity and how it is evaluated for fine and coarse aggregates.
f.  What do you understand by “Fineness Modulus”? How is it calculated for sand?
g. Differentiate between Segregation and Bleeding in concrete.

h. Define Modulus of Rupture and how is it calculated for concrete.

I.  What are the various mix proportioning methods of concrete normally used?

J.  How is the Modulus of Elasticity of concrete measured?
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SECTION-B
Discuss step-wise the IS code Method of Mix Design of Concrete.
What is Workability of Concrete? How is it evaluated in concrete?
What are the Various Design Philosophies followed for Reinforced Concrete?

Calculate the moment of resistance and uniformly distributed load which a Simply
Supported beam of effective span 5 meters can carry if the cross section details are
250 x 550 effective depth and 600 mm overall depth. It is reinforced with three bars of
20 mm diameter in the compression zone and 4 bars of 25 mm diameter in the tension
zone. Use the effective cover to compression reinforcement as 50 mm. Use M20 concrete
and Fe 415 steel.

A simply supported beam is 25 cm by 50 cm and has 2-20mm dia TOR steel bars going
into the support. If the shear force at the centre of support is 150kN at working loads,
determine the anchorage length. Assume M20 and Fe415 steel.

SECTION-C

Calculate the amount of steel required in a T-Beam to develop a moment of resistance of
300 kNm at working loads. The dimensions of the section are given as : D¢ = 120mm,
bs = 750mm, b,, = 200mm, D = 600mm , cover to tension reinforcement = 50 mm and
cover to compression reinforcement = 50 mm.

Design the support section of a ring beam 400 mm wide and 800 mm deep subjected to a
bending moment of 150 kN-m, twisting moment of 25 kNm and a shear force of 200 kN
at Ultimate. Use M20 and Fe415 steel.

Design a simply supported roof slab for a room 8 m x 3 m clear in size if the
superimposed load is 4.5kN/m?. Use M 20 and Fe 415 grade steel.
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